22"d Session: Modern Physics — |l
(Atomic Models)

* Question discussion: Galvanometer
* Recap

« Balmer & Paschen Series

e Bohr's atomic model



Question Discussion/Optional

A galvanometer with a scale divided into 100 equal divisions has a
current sensitivity of 10 divisions per mA and voltage sensitivity
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Applying Rydberg’'s Formula
= 2 R =1.09737x107 m?

Take n¢ = 2 (Balmer Series, VISIBLE) in Rydberg’s formula,
get range of A values
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Applyinc yberg’s Formula

n=14956 - -0 R=109737x10" m~
Take n; = 3 (Paschen Series, IR) in Rydberg's formula,
getrange of A values | x)a (L __\_)
1 _ i-ixlé"(_’ AL 3% ¢+
Ap~ v & ,\': 9x| €
- FIxlo"



ﬁ@\"" LS )
Q. Balmer series was observed & analyzed before
Lyman & Paschen. Why?
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Bohr's Atomic Model (1913)

Bohr's Postulates
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Bohr's Atomic Model (1913): 13 quantities
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